In the atmosphere, the ratio of toxic gas, for a given volume of air, is a normally distributed random variable with mean 
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 and variance 
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 which are unknown. We take 
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 samples, whose values are 
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1) On a sample of size 
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, we observe that 
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. Give the confidence interval of level of confidence 95% of the average ratio 
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 of the gas in the atmosphere.

2) What would this interval be if the variance 
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 were known ? (say it is equal to 100)

3) We now have a sample which is 10 times bigger, with the following results: 
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. Now give the confidence interval of level of confidence 90% of the value of 
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